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Link to Audio file for this text
Title

Aithown Che

i)
Stepmother story, means
xoM
tj
em
Aonq



khAm2
tai2
mj5
qn1


Stepmother story, mean
word
Tai
mother
little

pug
em
Aonq
/


puN1
mj5
qn1


story
mother
little

‘Stepmother story in Tai is mj5 qn, puN1 mj5 qn1.’

Yenow

ii)
em
ligq
em
ligq
/


mj5
leN4 
mj5
leN4


mother
feed 
mother
feed

‘Stepmother.’

Aithown Che

ii)
pugq
em
ligq
/


puN1
mj5
leN4


story
mother
feed

‘Stepmother story.’

STORY:

1)
mJwq
nnq
epa
eka
nJgq
AW
em
ka
eka
lJgq
/


mz5
nan4
pq5
kq4
nvN5
au2
me2
kA1
kq4
lvN5


time
that
man
CLF
one
take
wife
GO
CLF
one

‘Once upon a time a man had a wife.’

2)
mJnq
hitq
AamU
eta
fa
/


mvn2
het1
a1 mU2
tq2
phA3


3Sg
do
work
weave
cloth

‘She was a weaver.’

3)
eta
fa
es
xj
tgq
fuwq
tgq
em
/


tq2
phA3
se6
khAi6
tvN1
pho6
tvN1
me2


weave
cloth
PRT
sell
both
husband
both
wife

‘When the cloth was woven, both husband and wife went out to sell it.’

4)
eta
fa
es
xj
/


tq2
phA3
se6
khAi6


weave
cloth
PRT
sell

‘When the cloth was woven, it was sold.’

5)
ha
nj
ey
AU
ey
lukq
sW
eka
lJgq
nj
ka
/


hA1
nai4
yj4
U1
yj4
luk4
sAu6
kq4
lvN5
nai3
kA1


time
this
PRT
stay
PRT
child
female
CLF
one
get
GO

‘Then she had a daughter.’

6)
lukq
sW
eka
nJgq
ygq
ey
yE
/


luk4
sAu6
kq4
nvN5
yaN2
yj4
yav1


child
female
CLF
one
have
PRT
big

‘That daughter grew up.’

7)
cuwq
AJmq
pI
yE
knq
vJgq
ka
sipq
pI


co5
vm1
pI1
yav1
kan2
thvN6
kA1
sip1
pI2


time
NEG
not yet
big
RECIP
reach
GO
10
year


em
mJnq
ey
tj
knq
ka
/


mj5
mvn2
yj4
tAi2
kan2
kA1


mother
3Sg
PRT
die
RECIP
GO

‘When she was not yet fully grown, but had reached the age of ten, her mother died.’

8)
em
mJnq
....


mj5
mvn2
...


mother
3Sg
...

‘Her mother ...’

Saai

9)
Aaskq
mJnq
...


A1 sAk4
mvn2


age
3Sg

‘Her age ...’

10)
em
mJnq
tj
yW
ka
ey
/


mj5
mvn2
tAi2
yau4
kA1
yj4


mother
3Sg
die
FINISHED
GO
PRT*

‘Her mother died.’

Notes:
The last two words were realised as [kj4]

0’57”

11)
en
pI
nogq
mJnq
xW
woa
ya
/


nj4
pI5
nauN4
mvn2
khau6
wA5
yA4


DEF
elder
younger
3Sg
3Pl
say
PRT

‘Then his relatives said to (the husband),’

12)
AW
ka
nJgqkW
eka
nJgq 
em
nJgqkW
eka
nJgq
/


au2
ka3
nvN1 kau1
kq4
nvN5
me2
nvN1 kau1
kq4
nvN5


take
GO.IMP
again
CLF
one
wife
again
CLF
one

‘”Take another one, take another wife!”’

13)
em
...

me2


wife

‘A wife ...’

14)
em
nJgqkW
eka
nJgq
ma
ygq
ey


me2
nvN1 kau1
kq4
nvN5
ma1
yaN62
yj4


wife
again
CLF
one
NEG
have.NEG*
PRT


fE
ta
nU


phav6
ta1
nU6

who
will
lookafter.QN

‘“If you don’t have another wife who will look after your daughter?”’

Notes:
* This is spoken very quickly, but would normally have the negative tone.


In discussing the writing of this text, where the words for ‘mother’ and ‘wife’ are both found, Aithown Che observed that sometimes in books these words are written as follows: 


em’mother’


emX’mother’

15)
fE
ta
nU
hJnq
mE
fE
ta
tgq
xW
hE
/


phav6
ta1
nU2
hzn2
mav2
phav6
ta1
taN3
khau3
hav3


who
will
look
house
2Sg
who
WILL
cook
rice
GIVE

‘“Who will look after your house, who will cook for you?”, they asked.’

16)
cE
kJwq
cE
AU
ena


cav5
kz4
cav5
U1
nq6


be
LINK
be
STAY
QN

‘Isn’t it?’

17)
ka
xa
ey
epa
mj
fE
ta
hE
/


kA1
khA6
yj4
pq5
mAi3
phav6
ta1
hav3


go
search
PRT
man
widow
who
will
GIVE

‘Searching for (a wife), they asked “Who will offer one to this widower”?’ 

Aithown Che stated that (17) should probably be:

17.1
ka
xa
ey
hgq
epa
mj
/


kA1
khA6
yj4
haN2
pq5
mAi3


go
search
PRT
to
man
widow

18)
pasW
fE
ta
nj
/


pa1 sAu6
phav6
ta1
nai3


girl
who
WILL
get

‘“What girl will (we) get”?’

19)
fE
ta
hE
ena
pasW
/


phav6
ta1
hav3
nq6
pa1 sAu6


who
WILL
give
QN
daughter

‘Who will give their daughter?’

1’22”

20)
en
xa
ey
en
ka
em
mj
eka
nJgq


nj4
khA6
yj4
nj4
kA1
mj5
mAi3
kq4
nvN5


DEF
search
PRT
DEF
go
mother
widow
CLF
one

‘They searched for a widow.’

21)
em
mj
en
eka
lukq
mJnq
lukq
sW
mJnq



mj5
mAi3
nj4
kq4
luk4
mvn2
luk4
sAu6
mvn2


mother
widow
DEF
LINK
child
3Sg
child
female
3Sg


eka
nJgq
ygq
/


kq4
nvN5
yaN2


CLF
one
have

‘That widow also had a daughter.’

22)
nnq
eka
xJgqka
Aaskq
mJnq
xJgqka



nan4
kq4
khvN5 kA5
A1 sAk4
mvn2
khvN5 kA5


that
LINK
approximately
age
3Sg
approximately


sipq
pI
/


sip1
pI2


ten
year

‘Her age was about 10.’

23)
xW
eka
tU
kJnq
tgq
sogq
eka
/


khau6
kq4
tU1
kvn2
tvN1
sauN6
kq4


3Pl
LINK
same
RECIP
both
two
CLF

‘The two (daughters) were both of them the same age.’

24)
lukq
em
p...
em
pnq
Aonq
mJnq
eka
sipq
pI
/


luk4
me2
p...
me2
pAn2
qn2
mvn2
kq4
sip1
pI2


child
wife
...
wife
time
lead
3Sg
LINK
ten
year

‘The child of his previous wife was also ten.’

25)
lukq
em
mE
mJnq
en
eka
sipq
pI
/


luk4
me2
mav2
mvn2
nj4
kq4
sip1
pI2


child
wife
new
3Sg
DEF
LINK
ten
year

‘The child of his new wife was also ten.’

26)
AU
en
hE
hitq
AamU
es
kinq
nJ..



U1
nj4
hav3
het1
a1 mU2
se6
kin2
n..



live
DEF
GIVE
do
work
PRT
eat
..


kinq
sU
ey
/


kin2
sU1
yj4


eat
TOWARDS
PRT

‘They worked in order to eat.’

27)
fuwq
mJnq
tj
kJnq
ka
/


pho6
mvn2
tAi2
kvn2
kA1


husband
3Sg
die
RECIP*
GO

‘Then her husband also died.’

Notes *This is an example of kvn2 as a particle. It does not appear to convey either reciprocality or plurality.
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28)
fuwq
mJnq
tj
ka
ey
ta
hitq
sgq
xanj
/

pho6
mvn2
tAi2
kA1
yj4
ta1
het1
saN6
hA1 nai4


husband
3Sg
die
GO
PRT
will
do
what
now

‘With her husband dead, she thought “What will we do now?”’

29)
em
mJnq
kJwq
eta
hukq
es
xj
/


mj5
mvn2
kz4
tq2
huk1
se6
khAi6


wife
3Sg
LINK
weave
weave
PRT
sell

‘His wife also wove cloth and sold it.’

30)
ha
en
ka
AW
ma
ka
kU
ma



hA1
nj4
kA1
au2
mA2
kA1
kU3
mA2


time
DEF
go
take
COME
go
borrow
come


mj
tI
pJnq
/


mai6
tI5
pzn5


yarn
at
other

‘Then she went to borrow the yarn from another person.’

Aithown Che stated that the correct grammar would be 


lukqes
tI
pJnq


luk4 se6
tI5
pzn5

from
at
other

But he confirmed that you can say


tI
mJnq
mj
ygq


tI5
mvn2
mai6
yaN2

at
3Sg
yarn
have

‘She has yarn.’

2’02”

31)
ma
eta
hukq
xj
nJgqhE
ka
ey
/


mA2
tq2
huk1
khAi6
nvN1 hv6
kA1
yj4


come
weave
weave
sell
how
GO
PRT

‘(She thought) “How will I go about selling when the yarn is woven”?’

Notes:
When translating this story, Aithown Che stated that the particle se6 should be added after tq2 huk1.

32)
xj
yW
ka
sJwq
mj
ma
/


khAi6
yau4
kA1
sv4
mai6
mA2


sell
FINISHED
go
buy
yarn
COME

‘“When (the clothes) are sold, I will go to buy yarn”.’

Note:
When translating this story, Aithown Che stated that the particle se6 should be added after yau4.

33)
lukqes
ktq
ta
ka
sJwq
mj
ma
/


luk4 se6
kAt1
ta1
kA1
sv4
mai6
mA2


from
market
WILL
go
buy
yarn
COME

‘“From the market I will come and buy yarn”.’

34)
AW
mj
nnq
ma
pnq
lotq
/


au2
mai6
nan4
mA2
pan1
lqt1


take
yarn
that
come
spin
reel

‘Taking that yarn, she spun it into a reel.’

35)
pnq
lotq
yW
xj
/


pan1
lqt1
yau4
khAi6


spin
reel
FINISHED
sell

‘And when she had spun it, she sold it.’

36)
(en)
hgq
lukq
mJnq
ey
ma
hE
/


nj4
haN2
luk4
mvn2
yj4
ma1
hav3


DEF
to
child
3Sg
PRT
NEG
GIVE

‘She didn’t make her own daughter (work).’

37)
hgq
lukq
mJnq
pacW
ey
ma
hE
hitq
/


haN2
luk4
mvn2
pa1 cau3
yj4
ma1
hav3
het1


to
child
3Sg
self
PRT
NEG
GIVE
do

‘She didn’t give any work to her own daughter.’

38)
AamU
kasgq
eka
ma
hE
hitq
/


a1 mU2
ka1 saN6
kq4
ma1
hav3
het1


work
what
LINK
NEG
GIVE
do

‘She didn’t give her any work to do.’

39)
hgq
lukq
em
lugq
ey
em
pnq
Aonq
en



haN2
luk4
me2
loN6
yj4
me2
pAn2
qn2
nj4


to
child
wife
big
PRT
wife
time
before
DEF


hE
pnq
lotq
wJtq
/


hav3
pan1
lqt1
wzt4


GIVE
spin
reel
PRT

‘She got the daughter of the major wife, of the previous wife, to do the spinning.’

40)
hE
tgq
xW
hitq
tukq
hitq
ykq
/


hav3
taN3
khau3
het1
tuk4
het1
yAk4


GIVE
cook
rice
do
torture
do
difficult

‘She was made to cook the food, and it was a hard task.’

41)
sgq
tgq
xW
fj
mj
ey
tukq
/


svN6
taN3
khau3
phai2
mai3
yj4
tuk4


if
cook
rice
fire
burn
PRT
beat

‘If she burned the rice she was beaten.’

42)
en
tgq
xW
yW
eka
kgq
xM
kJwq



nj4
taN3
khau3
yau4
kq4
kAN2
kham5
kz4


DEF
cook
rice
FINISHED
LINK
middle
evening
LINK


hE
pnq
lotq
/


hav3
pan1
lqt1


GIVE
spin
reel

‘When she finished cooking in the evening she was made to spin yarn.’

2’42”

43)
sgq
mJnq
ma
pnq
(lotq)
ey
lukqAonq
lugqfa


saN6
mvn2
ma1
pan1
lqt1
yj4
luk4 qn1
loN6 phA1


if
3Sg
NEG
spin
reel*
PRT
child
being**


xnq
pnq
lotq
ey

tukq½


khAn4
pan1
lqt1
yj4
()
tuk4


unwilling
spin
reel
PRT

beat

‘But, if she didn’t spin, if being a child she was unwilling to spin, she would be beaten.’

Notes:
* This word was not spoken on the tape, but Aithown Che stated that it should have been present.


** Yehom Buragohain said that she herself does not use this word, but that some people in the village do use it. Yehom could not gloss it, but gave another example:


mJn
xnq
ka
lugqfa


mvn2
khAn4
kA1
loN6 phA1

3Sg
unwill
go


‘He does not wish to go.’

44)
mE
ma
pnq
lotq
hW
ta
AW
sgq 
ta
kinq
/


mav2
ma1
pan1
lqt1
hau2
ta1
au2
saN6 
ta1
kin6


2Sg
NEG
spin
reel
1Pl
WILL
take
what 
will
eat.QN

‘(The mother said) “If you do not spin, what will we eat”?’

Notes:
Aithown Che stated that the particle yj4 should follow pan1 lqt1.


Aithown Che also stated that the first ta1 was a slip of the tongue - and was not necessary, but the second one is needed.


*hW
ta
AW
sgq
kinq

hau2
ta1
au2
saN6
kin6


1Sg
WILL
take
what
eat.QN

45)
mahukq
kW
AW
sgq
ta
eta
/


ma1 phuk4
kau2
au2
saN6
ta1
tq2


tomorrow*
1Sg
take
what
WILL
weave


‘(The stepmother said) “With what will I weave tomorrow”?’

Notes
* This is rather indistinct - Aithown Che thinks this is what he said. 

46)
cJgqnj
pnq
wj
/


cvN1 nai4
pan1
wai8




now
spin
KEEP.IMP

‘“Now spin!”’

47)
AW
ma
kugq
AW
ma
ma
ma
hE


au2
mA2
koN2
au2
mA2
mA2
mA2
hav3


take
come
spinning wheel
take
come
COME
come
GIVE

‘Then she brought the spinning wheel and gave it to (the step-daughter)’

48)
eya


yq4


PRT-IMP

‘Take it!’

49)
pnq
lukqAonq
en
/


pan8
luk4 qn1
nj4


spin.IMP
child
DEF

‘”Spin!, Child!”’

50)
mE
epa
ma
pnq
lotq
ey
mafukq



mav2
pq2
ma1
pan1
lqt1
yj4
ma1 phuk4


2Sg
enough/if
NEG
spin
reel
DEF
tomorrow


kW
AW
sgq
ta
eta
/


kau2
au2
saN6
ta1
tq2


1Sg
take
what
WILL
weave

‘“If you do not spin, what will I get tomorrow to spin with?”’

51)
ta
etahukq
ka
AU


ta1
tq2 huk1
kA1
U1


WILL
weave
go
STAY

‘“(What) will I weave?”’

Notes:
Aithown Che stated that in this example kA1 means ‘go’, in the sense of continuing into the future. 


The meaning is similar to:


kW
ta
etahukq
sU


kau2
ta1
tq2 huk1
sU1

1Sg
WILL
weave
TOWARDS


which would meaning continuing - 

52)
hukq
en
epa
ma
eta




huk1
nj4
pq2
ma1
tq2



loom
DEF
if
NEG
weave


AW
sgq
ta
ka
xj
es
kinq
/


au2
saN6
ta1
kA1
khAi6
se6
kin2


take
what
WILL
go
sell
PRT
eat

‘“If you do not spin, then what will I get in order to sell so that we can eat”.’

Note:
Aithown Che stated that the particle yj4 should be added after ma1 tq2 at the end of the first line.

53)
ha
nj
lukqAonq
en
...


hA1
nai4
luk4 Qn1
nj4
...


time
this
child
DEF
...

‘Then that child ...’

54)
hgq
lukq
mJnq
pacW
en
ta
nonq
kJnq
ka
/


haN2
luk4
mvn2
pa1 cau3
nj4
ta1
nqn2
kvn2
ka8


to
child
3Sg
self
DEF
WILL
sleep
PRT*
go.IMP

‘To her own child she said: “Go and sleep”.’

Note:
When completing the translation to this point, Aithown Che pointed out that the notes in this analysis are his opinions and that what others might say may be different.

